Day 7 - Review after.notebook March 27, 2019

Questions from Homework

8. If seafood is not kept frozen (below 0 °C), Q L
it will spoil due to bacterial growth. The ﬂ
relative rate of spoilage increases with %o~
temperature according to the model

T
R = 100(2.7)%, where T is the temperature, Povs
in degrees Celsius, and R is the relative
spoilage rate.
a) Sketch a graph of the relative spoilage ([y+)

rate R versus the temperature T from
0 °C to 25 °C.

b) Use your graph to predict the ' N y y
temperature at which the relative S 10 \S 0 T (.C)
spoilage rate doubles to 200.

c) What is the relative spoilage rate at 15 °C?

d) If the maximum acceptable relative
spoilage rate is 500, what is the
maximum storage temperature?
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9. A bacterial culture starts with 2000 bacteria

—

and doubles every 0.75 h. After how many
hours will the bacteria count be 32 0007
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Given: y= _3(2)2’”2 +4
9(3“

Y- -30)

i) state the parameters and describe the corresponding transformations

ii) create a table to show what happens to the given points under
each transformation

iii) sketch the graph of the base function and the transformed function

iv) describe the effects on the domain, range, equation of the horizontal
asymptote, and intercepts
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Homework

Chapter 7 Review pg. 366-367 (Do o\ qudhions )
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7.1 Characteristics of Exponential Functions,
pages 334-345
1. Match each item in set A with its graph
from set B.
Set A
a) The population of a country, in mlllions.(\nc(qasvxs) %

grows at a rate of 1.5% per YEar.

b y=10" (| D X
y= nCreas)
¢) Tungsten-187 is a radio r\g\e mc:-tu:npe 2 o]\
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